Install Instructions
2008-2014 Subaru WRX/STI Shield

1) Use the provided metal M6(6mm) extruded u-nuts (speed nuts) and slide them over
the holes in the bumper that are associated with the front panel

2) Mount the side brackets up next - there are existing bolts in the frame with the
grounding wires. Unscrew these with a 10mm socket with extension. Feed the ground
wire through the hole in the bracket and reattach the bolt through the bracket into the
frame. Do NOT tighten the bolt down all the way as you will want it to slide for
adjustment.

3) mount the Largest panel using the M8 (largest bolts) starting with the one (1) bolt in
the rear. overlap the front piece with the rear and thread the remaining 2 M8 (8mm)

bolts in the radiator support. Do not tighten all bolts yet - just turn them 1-2 threads is
fine for now.

MOUNT FRONT PIECE FIRST
THEN LARGER(REAR) PIECE OVERLAPPING |
THE FRONT PIECE !

SECURE WITH 3 M8 BOLTS



4) Insert all front 5 M6 (6mm) bolts into the threaded speed nuts installed in step 1.

STEP #4
THREAD ALL M6 BOLTS INTO THE U-NUTS
WE PREVIOUSLY SLID OVER THE HOLES
IN THE BUMPER

STEP #5
LINE UP THE SIDE
BRACKETS WITH THE
HOLES IN THE REAR
PANEL AND THREAD A
FEW TURNS

/ A

6) At this pomt all bolts just need to be tightened. Nothing too aggressive is needed -
just snug. Make sure not to forget the bolts that hold the side brackets to the frame.



